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1. x % = ZEMLTET. (SHh1, A19358, B2 10%, CH39)

(1) c+a (2) (z+1)=12

(3) axaxa=b 4) lrzrzrrroa

(5) a+(—100) —b 6) —1xa+yxz

(7) 13xmxm+n+n+n+n () zx3+18+x

(9) sxt—1l=xp=q=r (10) (x+y) x (z+y) +2—2000 = (z —y) + (z — y)
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2.

X - AL TCET. (SHk14, A1 358, B2 10%, C#34)

1) a+=z

(3) a=b=b+b

(5) a—b=50

() ITxmxmxm+-n+n+n

9) 1+s+t—1lraxxy=+z

(2) 4+ (z—-1)

4) l=zrz+z+zra=2

(6) ~1xa+zxb+y

(8) zx6—-—9=+x

(10) (x+ 1) x(z-1)=+2—4+(x—1)+(z—1)
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RE7AL XFX BEF - OFR 02 HEES

X - AL TET. (SHk15, A1 35%, Bfk2o10%, C#34)

* XFRDHER (FESDAEER)
O 3oy s. #l z-2= %

@ RE-ATFO T—y BHICHT. il o+ (-3) =L =-2L

-3 3
® HFF- 5T () IZERT 5. fi (:E+1)+(x—1)=£ji
(1) c+a (2) (z+1)=+12
- < _x+1
12
(3) axaxa=b 4 1l+z+zrz+rrs2
. a'3 :i
% =
(5) a-=(—100) —b (6) —1xa+yxz
___a _ __az
100 oy
() Bxmxm=n+n+n+n (8) rx3+18+ux
_ 13m? _3p 4 18
- n4 xr
(9) sxt—1+p+qg+r (10) (x+y) x (x+y)+2—2000=+ (z—y) = (z —y)
—st— 1 _(@+y)* 2000
pqr 2 (x —y)*
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2. X = BEMLTET. (SH1T, AW14358, B2 108, C#34)

1) a+=z

(7) I7xmxmxm=n+n-=n

17m3
n3

(9) 1+s+t—1lrazxy+z

© -

(2) 4+ (z—-1)

4) l=zrzrzrza=z

(6) —1xa+zxb+y

_ab

= vy

(8) zx6—-9=+2x

:6313—g
T

(10) (z+ ) x(x—1)=+2-4+(z—1)+(x—1)

_(z+1)(z—1) 4
B 2 (x —1)2
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